
DATE: __________ 
Evaluating Limits Analytically – Multiple Choice 

1.    lim
௫→ଶ

௫మିସ

௫మାସ
  is: 

 

 (A)   1  
(B)   0 

(C)   −
ଵ

ଶ
 

(D)   −1  
 (E)   ∞ 
 
 

2.  lim
௫→ଷ

௫ିଷ

௫మିଶ௫ିଷ
  is:   

 

 (A)   0  
(B)   1 

(C)   
ଵ

ସ
  

(D)   ∞ 
(E)   none of these 

 
 

3.    lim
௫→଴

௫

௫
  is: 

 

 (A)   1 
 (B)   0 
 (C)   ∞ 
  (D)  −1 
 (E)   nonexistent 
 
 

4.  Evaluate the limit, if it exists:  lim
௫→ଽ

√௫ିହିଶ

௫ିଽ
 

 (A)      
ଵ

ସ
   

 (B)   −
ଵ

ସ
    

 (C)   1 
   (D)  0   
 (E)   The limit does not exist 
 
 
 

5.  Evaluate the limit:   lim
௫→଴

ୱ୧୬ ௫

௫మାଷ௫
 

 
(A) 1 

(B) 
ଵ

ଷ
 

(C) 3 
(D)  

(E) 
ଵ

ସ
 

 
 
 


